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(B uSv./h)

— = # E 50cm
No| HIER |HXA i &% T =EOT i = 16
1] FRETHHEE 0.06 - 0.07 -
| 2 ARV H#E 0.06 - 0.06 -
| 3 AHREEEIILY 0.06 - - -
] S RE T 0.06 - 0.06 -
| 9] EEREM 0.06 0.05 0.05 -
| 6] B KERER 0.06 0.05 0.06 -
7 E KARER 0.05 0.05 0.05 -
8 R |[OFELYREE 0.05 - 0.06 -
9 BEREM 0.06 0.06 0.06 -
| 10] R E 0.05 - 0.06 -
| 11| 4A6H BB HE 0.05 - 0.06 -
| 12 HRNEREM 0.05 0.05 - -
13 EIEHE 0.08 - 0.06 -
| 14] a  [RENEFRT 0.05 - 0.05 -
% 48118 f:(lg: p_t?ﬂhf’: s 2l 0.05 0.06 0.06 -
| 16, = |- RREH 0.06 0.08 - 0.06
17 KIHREFR 0.07 0.07 0.06 -
| 18, RILIREM 0.06 007 0.06 -
| 19 q  |BREEMR 0.05 0.05 0.05 0.06
%(1) 45108 E iliﬁﬁ’:’ém_ 0.06 0.05 0.05 -
| 21 = AT S R B AT 0.05 0.05 - 0.05
| 22 MFERER 0.06 0.06 0.06 0.06
23 BEXREmR 0.06 0.05 0.06 0.06
24 A | e HEREA 0.06 0.06 - -
25 HELHE 0.07 - 0.06 0.06
| 26 T |[wErREmR 0.06 0.05 0.05 0.05
| 27| 4A48 ﬁ TERER 0.06 0.05 0.05 0.07
28 R [HIIRER 0.06 0.07 0.07 0.07
29| 4R38 | HE |[HEMRRER 0.08 - - -
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